i/? iT &5 $ qﬁp tre fraktioner, deicmals, ordningsfoljd med
= $ $ parenteser

namn: Datum: Poéng:
14 14 1
I 1 1
4(=—=2)= 4—4,2)x = =
531 18 1
2 1 2(5,4-2,9) =
(?—§)+2: (57 59)
23,6 +4,8)= 53,6 +3,4)=
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¥ {T & ¥ ¥

tre fraktioner, deicmals, ordningsfoljd med

parenteser
namn: Datum: Poéng:

14 14 4 1 4
(5 +<5)+T=< (B-4.6)% == ()

I 1 2 | 1
4(=—=)=(—= 4—4 2% == (——
(z-3)= (3 (4-42)x 3= ()

531 18 11 1 132
o 737773 OFPx48= 3
32 1 91 25.4 —2.9) =
(———)+2=__ (59 39) 5
5 3 30

84
26,6 +4.8)=

5(3,6 +3,4) = 35
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